Big Exam #5, SUSTAIN, Schwartz Name

1) Ispina 500g rock over my head (David and Goliath style) on a string at constant speed such that it
makes a circle around my hand of radius 2 m and makes an angle of 30 degrees below the horizon.

a) Find the Tension in the String.

b) Find the acceleration of the rock.

c) Find the speed of the rock.
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2) A disk of radius 30 cm and mass 5 kg rolls 4 m down a 30° incline W1thout slipping, starting from rest.

Please find in any order: é/
a) The rotational velocity at the bottom of the incline - 4

b) The angular acceleratlon
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